Forzr-

TAMO2

rorzr-

TAMOL

Fsrzre

TAS

borzr-

TAD

JGB003

LD\
LAY

5C025

sur TR

Surss LR

TC-02

surrsL

TC-10M

Pt

TC-09

suarsn

TC-05

P

UAIL—01

B¢

sursn

FILI—02

surrsn

YAILI—03

R

Funk WMC

DankR-s

Funk DDC

D nk-s

CROSS TEN

Drnks-s-

CROSS EIGHT

DankR-s-

CROSS SIX

Dnkr-s- rereaz

CROSS FIVE p12

Ea-esry
HR-1

5

J.iva

/

Ea-ersey

HR-2

Eamesry

MM-022

Eamevsey

Hs-08

SP

JUSTICE 06

JUSTICE 05

HONDA
8 - B T T 98| HPe |#4% FEY 1 XRRY Y 9%:5%51 o rFS1TT— J&G SHS—AIVX | RGF-= GUTISALINAR VOPLEEIN Javs2 T EHE—5— TALTLFR Ea—vTY51> SYRF1R .
FAVHIX FA—HAZ TAMO2 | TAMO1 | TAS TAD |JGBYU—X| LU-221 | LH-015 | MCM | SC025 | W05 TC-02 | TC-10M | TC-09 | TC-05 | UA/\—01] UFN/{—02] UF/LIi—03| TB-001S | TB-022M| TB-08 |FunkWMC]| FunkDDC | Z0Z7v | JHAIAF |/OAYv9R[IAR7747| D12 cup HR-1 HR-2 HR-3 | $S-010 | MM-022 | HS-08 | HS-023 | S-15 | HS-09 | HS-10M 06 05
7a-F R2/02- cv3 19HEX M12x1.5 64 [5/114.3| 20 - - 235/35-20 20X 8.0 - - - - - - - 45 - 45 - - - - - - - - -
19 - - 235/40-19 19X 8.0 - - - - 45 48 - 45 45 7.548 45 - - - - - - - - - - - -
18 235/45-18 18 X 8.0+50 235/45-18 18X 8.0 - - - - - - 45 75055 | 7J48 - 43 7J35 7J38 7048 748 7048 | 7548 - - - - - - - - 70048 | 7.0048 | 70048 | 7.5J55 70048 | 70048 | 70048
7A-RYT5— 17 215/55-17 17X 7.0 - - - - - - 38 38 738 38 38 38 38 38 38 - - - - - - - 53 53 53 53 53 53 53 53 53
7a-REEY H28/05- CRT% 64 [5/114.3[ 20 . 235/35-20 20X 8.0 . . : . . : . 45 - 45 - . . . : . . . . -
73-k2-0OR 19 . 235/40-19 19X 8.0 - - - - 45 48 : 45 45 7.5)48 45 - - - - - - : - : : -
18 235/45-18 18 X 8.0+55 235/45-18 18X 8.0 - - - - - - 45 75055 | 7J48 - 43 7J35 7J38 7J48 7J48 7048 | 75048 - - - - - - - - 7.0J48 | 7.0048 | 7.0048 | 7.5J55 7.0048 | 7.0J48 | 7.0J48
17 225/50-17 17 X 75455 225/50-17 17X 7.0 . : . 38 38 . . 38 38 38 38 38 38 38 . . : . . 53 53 53 53 53 53 53 53 53
16 : - - 16 X 6.5 - - - - - - - - 38 38 38 38 38 - - - - 53 53 53 53 53 53 53 53 53
11 H30/12- ZE4 19HEX M12xL.5 64 [5/114.3| 19 - - 235/35-19 19%8.0 45 ) - 45 45 7.5) 48 45 - - - -
18 235/40-18 18 X 8.0+50 235/40-18 18X 7.0 - - - - - 8.0J45 | 7.5)55 48 - 8.0J43 35 38 48 48 48 48 7.5J38 - - - - - - - 48 48 48 7.5J55 48 48 48
17 215/50-17 17 X 7.0+45 215/50-17 17X 7.0 - - - - - 38 38 - 4 38 48 48 48 38 38 38 - - - - - 75035 - 48 48 48 48 48 48 48 48 48
16 215/55-16 16 X 7.0+45 215/55-16 16 X 6.5 - - - - - - 48 48 38 38 38 7.0J35 - - 7.0J35 - 48 48 48 48 48 48 48 48 48
H21/03- ZE2/3% 56 | 4/100 | 17 - . 195/45-17 17X 6.5 - : - - . - - - 45 6.0J50 - - - - - - 6.0J50
16 185/55-16 16 X 6.0+53 185/55-16 16 X 6.0 - - - - . 45 - 45 - 45 43 ) 50 50 ) 40 - - - - 4 50 50 ) 45
15 185/65-15 175/65-15 15X 6.0+50 15 X 5.5+45 185/65-15 175/65-15 15X 5.5 - - 43 - - - - - 43 43 45 43 43 - - - - - 43 50 50 45 43 43 43 50 50 50
14 - - 175/70-14 14X55 - - - - - - - - - - 45 45 43 50035 | 5.0J35 - 45 45 45 45 43 43 43 43 43
Yt R3/04- RV 19HEX M12xL.5 64 [5/114.3| 19 - - 225/45-19 19X 75 - 53 - - - - - - - - - - - - -
18 225/50-18 18 X 7.5+55 225/50-18 18X 7.0 55 7.5J55 53 53 53 53 53 - - - - 53 7.5J53 - 48 48 53 7.5J55 55 53 53 - -
17 - 215/60-17 17X 7.0 55 53 - 53 - 53 6.5) 44 53 53 53 53 55 53 53 53 53 53 55 53 55 53 53 - -
16 215/60-16 16 X 7.0+50 215/60-16 16 X 6.5 - - - - - - 48 48 48 48 48 - - - 48 48 48 48 48 48 48 48 48 -
H25/12- RUL-4% 64 [5/114.3[ 19 - - 225/45-19 19X 7.5 - - - - 53 - - - - - - - - - - - - - - -
18 225/50-18 18 X 7.5+55 225/45-18 18X 7.0 . . . . - 55 7.5J55 53 53 53 53 53 - 53 7.5J53 . . . . . - - - - 48 48 53 7.5J55 55 53 53
17 215/55-17 17 X 7.0+55 215/55-17 17X 7.0 - - - - - 55 53 - 53 53 6.5 44 53 53 53 53 55 53 - - - - - - - 53 53 53 53 55 53 55 53 53
16 215/60-16 16 X 7.0+55 215/60-16 16 X 6.5 - - - - - - - - - 48 48 48 48 48 - - - - - 48 48 48 48 48 48 48 48 48
N-BOX H23/12- JF1/2/3/4/5/6% 19HEX M12xL.5 56 | 4/100 | 16 - - 165/45-16 16X 5.0 - - - 45 45 - 45 45 45 45 - - - 45 - -
N-BOXHZZL A—RE13~SHEY A 15 165/55-15 15 X 4.5+45 165/55-15 15X 4.5 - - 45 45 - - 45 45 45 45 45 45 45 - 45 45 45 45 45 45 45 45 45 45 5.0J45
N-BOXZ5y¥a 14 155/65-14 14 X 4.5+40 155/65-14 14X 45 - 45 45 - - 45 45 45 45 45 45 45 45 - 45 45 45 45 45 45 45 45 45 45 45 45
N-BOX75X 13 145/80-13 13 X 40435 145/80-13 13X 4.0 - - - - - - - - 43 43 45 43 43 43 43 43 45 £ 43 43 43 43 43
N-VAN H30/7- 1 56 | 4/100 | 12 145/80-12 12 X 4,0+40 145/80-12 12X 4.0 - - - - - ) 35042 - - 3504 | 35048 | 35i4 £ £ 35042 3508 | 3508 | 3504 £ £ 35043 £ 3.5)42 )
N-WGN R1/8- JH3/4% 19HEX M12x1.5 56 | 4/100 | 16 - - 165/45-16 16X 5.0 45 45 - - 45 45 - - - 45 45 45 -
H25/11- JHI2% 15 165/55-15 15 X 4.5+45 165/55-15 15X 45 45 45 - - 45 45 - 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 50045
14 155/65-14 14 X 4.5+40 155/65-14 14X45 - 45 45 - - 45 45 - 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45 45
13 - 13%4.0 - - - - - - - 43 43 45 43 43 - - - - - - 43 - 43 43 45 £ 43 43 43 43 43
N-ONE H24/11- JGR 19HEX M12x1.5 56 | 4/100 | 16 - . 165/45-16 16 X 5.0 : : : : = : . 45 - : : . : : : = . . -
[2WD NA] 15 165/55-15 15 X 4.5+40 165/55-15 15X 4.5 - - - - : : 45 45 - 43 50045 45 43 45 45 45 45 45 - 5.0J45 45 43 - - 5.0J45 45 45 45 45 45 45 45 45 45 5.0J45
14 155/65-14 14 X 4.5+40 155/65-14 14X 45 - - - - - 45 45 - - 45 45 45 45 45 45 45 45 45 45 45 45 45 - - 45 45 45 45 45 45 45 45 45 45 45 45
13 . = 13X 4.0 : : = : : . = 43 43 45 43 43 : . . 43 . 43 43 45 ) 43 43 43 43 43
AFvea H25/11- RC1/2/4/5% 19HEX M12xL.5 64 [5/114.3| 20 - - 225/35-20 20X 8.0 - - - 45 - 45 - - .
(MFTUyRED) X717 -hET 19 - - 225/40-19 19%8.0 45 45 - 45 45 7.5J53 45 - - - 48 45 - -
18 225/45-18 18 X 7.0+55 225/45-18 18X 7.0 55 7.5J55 53 53 53 53 53 - - 48 48 53 53 - - 48 48 48 7.5J55 48 48 48 - -
17 215/55-17 17 X 7.0+55 215/55-17 17X 7.0 55 53 - 53 - 53 6.5) 44 53 53 53 53 53 7.5042 53 53 53 53 55 53 55 53 53 - -
16 215/60-16 16 X 6.5+55 215/60-16 16X 6.5 - - - 53 53 - 53 53 53 7.0J35 7.0J35 7.0J40 53 53 53 53 53 53 53 53 53 - -
JLAZ H26/12- GM4-5% 19HEX M12x1.5 56 | 4/100 | 17 : 195/45-17 17X 6.5 . . . . : : . 45 : 6.0J50 = : . = . . . . =
16 185/55-16 - 185/55-16 16 X 6.0 - - - - 45 - 45 - 45 43 ) 50 50 ) - - - 40 - - - - ) 50 50 £ 45
15 185/60-15 15 X 6.0+50 185/60-15 15X 5.5 - - - - - 43 - - 43 43 45 43 43 - - - - : - - ) 50 50 45 50 50 43 50 50 50
14 . 175/70-14 14X 55 . - - - - - - - 45 45 43 - - 50035 | 5.0035 - 45 45 45 43 43 43 43 43 43
CR-V H30/08- RT5/6 19HEX M12x1.5 64 [5/114.3| 19 - - 235/55-19 19%8.0 45 48 - 45 45 7.5)48 45 - - - - - - -
RW1/2 18 235/60-18 18 X 7.5+45 235/60-18 18X 7.0 48 7.5)48 48 - 48 48 48 - - 48 48 48 7.548 - 48 48 48 7.548 48 48 48
17 - - 235/65-17 17X 7.0 48 48 - 48 - 48 6.5)44 48 48 48 48 48 48 48 48 48 48 48 48 48 48 48
H23/12- RM1-4% 64 [5/114.3[ 19 - 225/55-19 19X 8.0 - - - 45 48 45 45 7.5J48 45 - - - - - - - - - - . - - -
18 - - 225/60-18 18X 7.0 . - - 48 7.5)48 48 - 48 48 48 - 48 48 48 48 7.548 . - - - 48 48 48 7.548 48 48 48 - -
17 225/65-17 17 X 6.5+50 225/65-17 17X70 . . . . 48 48 - 48 . 48 6.5) 44 48 48 48 48 48 48 - - - - 48 48 48 48 48 48 48 48 48 - -
16 225/70-16 16 X 6.5 - - - - 48 48 48 48 48 48 - 48 48 - - - - - - - 48 48 48 48 48 48 48 48 48 - -
248 H27/05- GP7/8% 19HEX M12x1.5 56 | 4/100 | 17 - - 195/45-17 17X6.5 - - - - 45 - - 6.0J50 - - - - - - - - - -
GK8/9% 16 185/55-16 16 X 6.0+53 185/55-16 16 X 6.0 - - - - 45 - 45 45 43 ) 50 50 ) - - - - 40 - - 4 50 50 £ 45 - -
15 185/60-15 15 X 6.0+50 185/60-15 15X 5.5 - - - - - 43 43 43 45 43 43 - - - - - 43 50 50 45 43 43 43 50 50 50
14 - - 14X55 - - - - - - 45 45 43 - - 50035 | 5.0J35 45 45 45 45 43 43 43 43 43
27y 773y R4/05- RP6-85% 19HEX M12xL.5 64 [5/114.3[ 20 - - 225/35-20 20X 8.0 - - - 45 - 45 . . . . . .
19 - - 225/40-19 19X 8.0 45 48 - 45 45 7.548 45 - - - - - - -
18 . . 215/45-18 18X 7.0 48 7.5J55 48 48 53 48 48 : . 38 38 48 48 - 48 48 48 7.5J55 48 48 48 . -
17 205/55-17 17 X 6.5+45 205/55-17 17X 7.0 48 48 - 53 - 48 6.544 48 48 48 48 48 - - 7.5J42 48 48 48 48 48 48 48 48 48 - -
16 205/60-16 16 X 6.5+45 205/60-16 16X 6.5 - - - - - - 48 48 - 48 48 48 7.0J35 7.0J35 7.0J40 48 48 48 48 48 48 48 48 48 - -
H27/04- RP1-5% 64 [5/114.3| 18 - - 215/45-18 18X 7.0 - - - 55 7.5J55 53 53 53 53 53 - - - - 53 53 - - 48 48 53 7.5J55 55 53 53 - -
I TVyREL) 17 205/55-17 17 X 6.0+50 205/55-17 17X70 - - - 55 53 53 6.5) 44 53 53 53 53 53 - - - 53 53 53 53 55 53 55 53 53 - -
16 205/60-16 16 X 6.0+50 205/60-16 16X 6.5 - - - - - 53 53 - 53 53 53 - - - - 53 53 53 53 53 53 53 53 53 - -
RV R5/4- RZ3/4/5/6 19HEX M12x1.5 64 |5/114.3| 19 - - 225/50-19 19X 7.5 - - - - - 7.5J55 7.5J53 - - - - - - - - - - - - - - - : - -
18 225/55-18 18 X 7.0+50 225/55-18 18X 7.0 . . . : . 55 7.5J55 53 - 53 53 53 6.5)44 53 53 - - - - - - - - - 48 48 53 7.5J55 55 53 53
17 - 225/60-17 17X 7.0 - - - - 55 53 - 53 53 53 53 53 53 53 - - - - - - - 53 53 53 53 55 53 55 53 53
WR-V R5/12- DG5 64 [5/114.3| 19 - 225/40-19 19X 75 - - - - 7.5J55 7.5J53 - - - - - 53 7.5J55 55 53 53
18 - - 225/45-18 18X 70 - - 55 53 - 53 53 53 - 53 53 - -
17 215/55-17 17 X 7.0+55 215/55-17 17X 7.0 - 55 53 - 53 - 53 6.5) 44 53 53 53 53 53 53 53 53 53 55 53 55 53 53
16 215/60-16 16 X 7.0+55 215/60-16 16X 6.5 - - - - - - - 53 53 53 53 53 53 53 53 53 53 53 53 53 53
T4y bIORZE— R2/2- GR5-8 % 19HEX M12x1.5 56 | 4/100 | 18 - - 205/40-18 18X 7.0 48 - 45 - - - - - - - - - - - - - -
17 - - 215/45-17 17X 7.0 45 45 - 45 - - 6.5J45 - - - 6.0J40 - . . - - -
16 185/60-16 16 X6.0+45 185/60-16 16 X 6.0 45 . 45 : 45 43 ) 50 50 ) - - 40 ) 50 50 £ 45 - -
15 - . 15X 5.5 : : 43 - - : 43 43 : - 45 43 43 : : - - 43 50 50 45 43 43 43 50 50 50 - -
14 - 14%55 - - - - - - - 45 45 43 - - - - 50035 | 5.0J35 . 45 45 45 45 43 43 43 43 43 -
T4y R2/2- GRI-4% 19HEX M12x1.5 56 | 4/100 | 17 195/45-17 17X6.5 - - - - 45 6.0J50 - - - - - - - - - -
T1yTUT 16 185/55-16 16 X 6.0+50 185/55-16 16 X 6.0 - - - 45 - 45 45 43 ) 50 50 ) - - 40 - - - - 4 50 50 4 45
T4y TYYE 15 185/60-15 15 X 6.0+50 185/60-15 15X 5.5 - - - 43 - 43 43 45 43 43 - - - - - 43 50 50 45 43 43 43 50 50 50
14 - - 14X55 - - - - - - 45 45 43 - - - 50035 | 5.0J35 - 45 45 45 43 43 43 43 43 43
H25/09- GK3-6% 56 | 4/100 | 17 . . 195/45-17 17X 6.5 - - - - - - - - - 45 6.0J50 - - - - - -
GP5SI° 9=y 16 185/55-16 16 X 6.0+53 185/55-16 16 X 6.0 - - - - 45 - 45 - 45 43 4 50 50 ) 40 - - 4 50 50 £ 45
15 185/60-15 15 X 6.0+50 185/60-15 15X 5.5 : . 43 . . . . . 43 43 45 43 43 . : - 43 50 50 45 43 43 43 50 50 50
14 175/70-14 14 X 5.5+45 175/70-14 14X 55 - : - - - - - : : : 45 45 43 - 50035 | 50035 . 45 45 45 43 43 43 43 43 43
H22/10- GP1-6% 56 | 4/100 | 17 - - 195/45-17 17X 6.5 - - - - - 45 - - 6.0J50 - -
16 185/55-16 16 X 6.0+53 185/55-16 16 X 6.0 - - - 45 - 45 - 45 43 ) 50 50 ) - - 40 £ 50 50 £ 45 - -
15 185/60-15 175/65-15 15X 6.0+450 15 X 5.5+45 185/60-15 175/65-15 15X 5.5 - - - 43 - - 43 43 - - 45 43 43 - 43 50 50 45 43 43 43 50 50 50 - -
14 - 14%55 - - - - - - - 45 45 43 - - - 50035 | 50035 - 45 45 45 43 43 43 43 43 43 - -
T1ybse bl H23/06- GP2% 19HEX M12x1.5 56 | 4/100 | 17 - - 195/45-17 17X 6.5 : : : : : : 45 6.0J50 : . . : : : = . :
(M TVYRED) GG/8% 16 185/55-16 16 X 6.0+53 185/55-16 16 X 6.0 - - - : - . . . 45 : 45 45 43 ) 50 50 ) - - - - 40 - - - - ) 50 50 £ 45
15 185/60-15 15 X 5.5+50 185/60-15 15X 5.5 - - - - - - 43 43 43 45 43 43 - - - - - - - 43 50 50 45 43 43 43 50 50 50
14 : 5 14X55 : : : : : = : . . 45 45 43 : : : : : 50035 | 5.0J35 : 45 45 45 43 43 43 43 43 43
FU=K/7U=KRN1Y | H28/09- GB5-8% 64 [51143| 17 - 205/45-17 17X 6.5 - - - - - - 53 - - - - - -
(M TVYRED) 16 - 195/55-16 16X 6.5 - - - - - - 53 53 53 53 53 - - - - 53 53 53 53 53 53 53 53 53
15 185/65-15 15 X 5.5+50 185/65-15 15X 6.0 - - - - - - - 53 53 53 50 - - 53 53 53 53 53 53 53 53 53
FU=K[7U=KRN4 | H20/06- GB3/4% 56 | 4/100 | 17 - - 205/45-17 17X 6.5 - - - - - - - - 45 - 6.0J50 - . .
(NMFTUyRED) GP3% 16 - - 195/55-16 16 X 6.0 - - - - 45 - 45 - 45 43 ) 50 50 £ 40 - ) 50 50 £ 45
15 185/65-15 15 X 5.5+50 185/65-15 15X 5.5 : : 43 : : = = : 43 43 . 45 43 43 - 43 50 50 45 43 43 43 50 50 50
14 185/70-14 14 X 5.5+50 185/70-14 14X 5.5 - - - - - - - - - - - 45 45 43 50035 | 5.0J35 . 45 45 45 43 43 43 43 43 43 -
517 H20/11- JC12% 19HEX M12x1.5 56 | 4/100 | 16 - 165/40-16 16X 5.0 - - - 45 - - - - - - - - - -
[5-#" 1[NA] 15 - - 165/50-15 15X 4.5 - - - 45 45 - 43 5.0J45 45 43 45 45 45 45 45 - 5.0J45 45 43 - - 5.0J45 45 45 45 45 45 45 45 45 45 5.0J45
14 165/55-14 14 X 4.5+45 165/55-14 14X 45 - - - - 45 45 - 45 45 45 45 45 45 45 45 45 45 45 45 45 - - 45 45 45 45 45 45 45 45 45 45 45 45
13 155/65-13 13 X 4.0+40 155/65-13 13X 4.0 - - - - - - - 43 43 45 43 43 - - - 43 - 43 43 45 4 43 43 43 43 43

B COVYFUIAMRRMESZIV - RA— YA X2 BEIERLTVE T Iy F I AR EAOER - BRI L — R HRICED YA XD RBBZBENBDE T LYY F U IR HETEEEEEE LT,

* TIVHE—UVTIVRER




